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To find the surface area, we are going to add up lots of little areas of
parallelograms that are tangent to the surface.

In the limit as Ax and Ay go to zero, the sum becomes an integral which
gives the true surface area.
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We know at‘que area of the parallelogram is the length of the cross

product of its vector sides.
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EX 1 Find the surface area of the plane 3x - 2y + 6z = 12 that is bounded
by the planes, x=0,y=0,and 3x + 2y =12. ; aw
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EX 2 Find the surface area for the part of the sphere, x2 +y? + 22 =9,
that is inside the circular cylinder, x?+y? = 4.

(SAof 4op Pieca) >
Sh= §CJeed e an

.

T Swikl {o polor Coovds
Nt v < \y- 2
k} l X f:w _p _"'rg'u,.,s
Y £ 2 x *
4-r el

Dirs s =‘u'-[l:+.(;+| Jr’wsé)w’s\.?e 4

020 Lo Fe

=Q(L+_‘i:_|:7'_._

x($-3 -l
ws g, _..g“g—-u A 4B
A= % dv ° ‘g
2 AU Y A _(n y
— ll 45
r=0 w= 40=9 °

F2 ue S =(Zr|)(-3a§- ))
—~l4,n(§~(§3) unik




Clh)

EX 3 Find the surface area of z =4 -x’-)?
over S={xy)|x*+y?<I}.
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For a surface area defined parametrlcally
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EX 4 Find the surface area of a surface given parametrically by
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